ol



ol

on

£

L
__OL

wt

Nfo
o7

—

_1_0

<|m
U
.

N
L]t

#o] Zo

<
°©

@ ts
s7to] 27)9} o

® 73
el 54
Hefl A a7 )
o] Agl= Z+
= syt



3.

o At st Q.

1 1
1= z
@ p @32




4. FoIA ol 7V 2 28 ol AU

@ 0.3km? @ 0.3ha ® 300a

@ 3000m?2 ® 3ha






i
i

=700 <%~ 100

0.14x 8



302

T

=

L ---920cm---"

~

2

7t e a72 g

o -
KAl

o

T
B



60\

£60°

--5cm-



9.

A 22m 7 Yk

AATZEE o] oF ¥io] Zoj=d
4 5
b i

[¢]

14



=
=

4.2ha

)

420(

)

42000(

@ km?, a
® ha, a

@ m?, cm?

@ ha, m?



11. A=z 327171 22 719 vz o2 22 of AJU 7}

(1)% . e (0.625
(2)% ° e O0.75
(3)% . e ©0.24

S ©1)-®02)-003)-
®1-©2-90)-0 @®1)-02)-©0)-
©



12.

Az BRAE 75kgo1, AT &
2AE 452 FRA 2y 7

>
fo

& e
=%

B9 L5 Aol 2

A17] 9] E5AE

LR LERY



13. o™ 450 57302 FalloF & A
Ht2 A AAret F-& 25 A

B e Gl



14.

Fhzo] Zol7k Alze] Zole] 0.8 el HA17
o} Alze] Z2ol7} 9.5m o], Wel Wol= @ m

e e



12 sto] threla

S

40 o]

3y

o) o 2 hrofof

™
=

4
0

R

7H

-

Ul

3



16. o5 =39 Wol7h 9.32ha € o, A =29 dojl& ¥ m IA
TOFA L.




17.

1o A 157bA] €] &
oA o F= He

28 UERfA 2.

@ @

N | =
LR

7} 247t Ao A S=2p 7E 153 0] Q15U T
o, 7tEo] #ofzl 471 49] Wigd 7Hs 43

e L

N
Ut | =
—_
ot

mlo o



18.

& e upgd 97 £5 ehd 2y 13
mo) 17 Sk BE P ol ¢ uhe B T Sk E
Atef| et = F5HA 2.
ub2d At 5
(7} 5 N
OOO0OO OO0y OO0O0 ¥
A
2} af H}f
OO¥% 00O O
- Y,

010009 Yy 500" ©1009

of,

o4,



19.

o

=
oju

40~

v

N
—_

Bl

A
rr

o)

s

L

=)

Eo] gt B39 FAV 543t dYth E2 AA 9

517 W 5o ZEiT 0] TA7} 4.83¢ < wf, ZEf ko)



20.

%wﬂgﬂﬂgémﬂ@uﬂ@ﬂz¢%ﬂ%@

el e HAZ P 0T thegle, e At

2 meA] FoHA L,

5
@D 1-m @ 11—72m
48 791
1= 1=t
@ 1 m © 1w

>
ofl
lo
et

o
o
e 2
el
ofr
rO
=~

1o
i
i)
rr



